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QUESTION 1

The ABC.com network consists of a single Active Directory domain named ABC.com. All servers on the ABC.com
network run Windows Server. Your instruction is to set up a child domain named us.ABC.com. 

You install Windows Server on a new standalone server named ABC-DC03 and manually assign an IP address. You
attempt to run dcpromo to promote ABC-DC03 to a domain controller. You select the new domain in an existing forest 

option. The wizard prompts you for the network credentials to join the us.ABC.com to the ABC.com forest. You then
receive an error message indicating that a domain controller in the ABC.com domain cannot be found. 

How can you ensure that ABC-DC03 can be promoted to a domain controller in the us.ABC.com domain? 

A. By installing the DNS Server service on ABC-DC03. 

B. By creating a host (A) record for ABC-DC03 on a DNS server in the ABC.com domain. 

C. By first joining ABC-DC03 to a workgroup named us.ABC.com. 

D. By having the ABC-DC03 client DNS settings configured to use a DNS server in the ABC.com domain. 

E. By creating a delegation on a ABC.com DNS server to delegate the us.ABC.com zone to ABC-DC03. 

Correct Answer: D 

 

QUESTION 2

You work as a Network Administrator for ABC.com. The company has a Windows Active Directory-based single domain
single forest network. The functional level of the forest is Windows Server. The company\\'s headquarters is located at
Los Angeles. The company has three branch offices located at San Jose, Oakland, and San Francisco. The
company\\'s network is shown in the image below: 

All the offices are connected to each other by using 56Kbps demand-dial connections. The branch offices and the
headquarters are required to communicate with each other on a regular basis. As you are using demand-dial
connections, you do not want the routing updates to be broadcast throughout the network. However, for reliable
communications, any changes to the network should be sent to the routers configured on the network. Every router in
the network is a server running Windows Server. Which of the following protocols will you use on the routers? 

A. RIP 1 

B. CHAP 
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C. RIP 2 

D. OSPF 

Correct Answer: C 

 

QUESTION 3

You are working as the administrator at ABC.com. Part of you job description includes the deployment of applications on
the ABC.com network. To this end you operate by testing new application deployment in a test environment prior to
deployment on the production network. 

The new application that should be tested requires 2 processors and 3 GB of RAM to run successfully. Further
requirements of this application also include shared folders and installation of software on client computers. You install
the application on a Windows Server Web Edition computer and install the application on 30 test client computers. 

During routine monitoring you discover that only a small amount of client computers are able to connect and run the
application. You decide to turn off the computers that are able to make a connection and discover that the computers
that failed to open the application can now run the application. 

How would you ensure that all client computers can connect to the server and run the application? 

A. By running a second instance of the application on the server. 

B. By increasing the Request Queue Limit on the Default Application Pool. 

C. By modifying the test server operating system to Window Server Standard Edition. 

D. By increasing the amount of RAM in the server to 4GB. 

Correct Answer: C 

 

QUESTION 4

One of your hosts in multiple-host NLB cluster requires maintenance. The cluster is heavily used and central to the
profitability of your company. You want to bring the node down for service in the least disruptive way. How should you
accomplish this goal? 

A. Use the drainstop option on the host needing maintenance. 

B. Use the drainstop option on all the hosts in the cluster not needing maintenance. 

C. Use the suspend option on the host needing maintenance. 

D. Use the suspend option on all the hosts in the cluster not needing maintenance. 

Correct Answer: A 

 

QUESTION 5

You administer your company\\'s network. The network consists of a single Active Directory domain. All servers run
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Windows Server. The network contains a two-node server cluster. The company\\'s security expert informs you that the
password on the domain user account that is used for the Cluster service has been compromised and must be changed
immediately. Your actions should cause minimal or no disruption of the services provided by the cluster because the
cluster is running a mission-critical application. 

Which of the following should you do? 

A. Use Active Directory Users and Computers to reset the password. 

B. Use the Services console to change the password on any one of the cluster nodes. 

C. Use the Cluster command with the appropriate options. 

D. Use the dsmod user command with the appropriate options. 

E. Use the dsmod computer command with the appropriate options. 

Correct Answer: C 
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